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1 Background

The choice of ACS and ACLR for the up- and downlink are connected, in that the total interference between adjacent channels will depend on both parameters. A relation was put forward in Tdoc (99)048 (“Evaluation of up- and downlink adjacent channel performance”, Source: Ericsson), described by an equation: 
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In the uplink, the limiting design factor is the UE transmitter, which will dominate the uplink interference. The reason is that  ACLRUE  << ACSBS , which implies that uplink ACIR ( ACLRUE  . Thus, in an uplink simulation, it is essentially the UE ACLR performance that is simulated. In order for this to be valid, the ACSBS  minimum requirement should be at least 10 dB higher than the ACLRUE  requirement, not to have any significant impact on the total uplink ACIR.

The values under discussion for ACLRUE   from the contributors of simulations and complexity analysis are in the range 30-35 dB. It is therefore proposed to adopt the value 45 dB as a preliminary value for BS ACS. This should be studied further and be turned into an absolute value in the specification as the  “interfering adjacent channel signal level” at which the static reference performance is met.

2 Proposal

The BS ACS should be specified based on a minimum requirement value of [45] dB.
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